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AVERAGE & AGES ASSIGNMENT

The average height 20 students in a class was calculated as 160 cm. On
verification it was found that one reading was wrongly recorded as 132cm

instead of 152 cm. Find the correct mean height.

R aGULled o eitem 20 omewielTHeler gFImgm o wgb 160 g6 erensh
SIGHIL LU L. FiumTd@d Gurg 152 QF.16 eaumsgd 132 6F.10  erer
HUBTH 6IBhHHIH CaTeTenILl L HTHS T eubsHsl. gflwmer gyrefl o wigb
&G0 LD.

a. 160.5cm b. 161cm c. 162cm d. 159 cm

The mean of the 5 number is 32. If one of the numbers is excluded, then

the mean is reduced by 4. Find the excluded number.
5 ecrewimerlenr gymgfl 32. 9ieuOeamIH6aTed eeileowB HHGW Gurgl, ayrafuied 4
GOBHBHTED HHBLILILL 616001606001  HTET6LLD.

a. 46 b. 50 c.52 d. 48

The average of five consecutive odd numbers is 95. What is the fourth
number in the descending order?

CTLTFFWTs mbal @BemplUmL  aeauseiea ggrafl 95. @mpmig eafamauisd
[BITGIIEBITLD 6T600T 61601601 ?

a. 91 b. 95 c. 97 d. None of these

The average height of 10 students in a class was calculated as 166 cm. On
verification it was found that one reading was wrongly recorded as 160

cm instead of 150 cm. Find the correct mean height.

R au@lileeTenr 10  womewieuTdemer gyrafl o wgb 166 OF.15  elensh
SMISHLLILLL S| HBHeUeLBHMeNF FHUTTHGWOUTHI e WHLIY 150 CF.10.5G
ugdeonsd 160 QF.16 eleim GSBIUILLIULL S SewiBGLIQSHSIILL L &I eTefled Filuimen
gynagfl o WrHmeHdH HT6wIH.

a.175 cm b. 165 cm c. 155 cm d. 160 cm

The total marks obtained by a student in Physics, Chemistry and
Mathematics together is 120 more than the marks obtained by him in
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Chemistry. What is the average marks obtained by him in Physics and

Mathematics together?

AuwiBilwed, Geugluluied WBWID HewlFHD HWAIBIE0 6(H  TewIeUT  GLMBB
QwreHs  WHIGUIEHT Cougduluwedsd SleuT GUBB  WHIGUEIHmeT i 120
SIFBD. QuBLiwed 1OBBID  HIHHHL ST  aBHD  LFH OIS 60
FITFMenUl HT6wIH.

a. 40 b. 60 c. 120 d. Cannot be determined

The average of five consecutive numbers A, B, C, D and E is 48. What is
the product of A and E?

A, B, C, D wppib E ol mpa GsrLirsfwner eewiseienr gymafl 48. A
oBpib E @61 GLhd®He0 LIeusiT 6l6iTent?

a. 2400 b. 2300 c. 1300 d. 3300

A batsman makes a score of 87 runs in the 17 inning and thus increases

his average by 3. Find his average after 17th inning

@ WLMLUBSTLLSTIT 176ugh L SHHO 87 a6l 6IHSHITT, EHIT60
ougg Fygrafl 3 oiFsflésdpal eaeled 17-augh QL SIBG LUIBG Dieug
FIng  eleoTenr?

a. 38 b. 39 c. 37 d. 49

The mean of 9 observations is 24. Find the sum of the 9 observations.
9 eleugmseilesr ggrafl 24 eafled, Seualougmiseienn gl BHOHTMHMUIS
HTe0TH.

a. 214 b. 216 c. 316 d. 116

Find the mean of the following data.

LeiTeu(hd SHIeyderliesr Fmaflenuid STewTaD
51,48,43,45,51,4.7,45,52,54,58,4.3,5.6,5.2,5.5
a.5.1 b.5.2 c. 5.0 d.55

If the average of m numbers is n? and that of n numbers is m?, then the
average of (m+n) numbers is

m elewikeien Fynafl N2 oEe|d, N aemideaier Fyrafl m?2 Qsa|d G [HbHHTe0
(m +n) cewiseilen syraf ereiren?

m
a.m-n b. mn c.m+n d. —
n

Six years ago, the ratio of the ages of Kunal and Sagar was 6 : 5. Four
years hence, the ratio of their ages will be 11 : 10. What is Sagar's age at
present ?
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6 UHLMIBEHDHG (PG GH6wITe0 BMID Fraflel gk aldlsHbd 6 : 5 BTG
AUHLEIBEHSHSG LIBG SleuTseilar g aladlsd 11 : 10 eefed  grsfler
SBOUTMHWI IS 6T60T60T?

a. 16 b. 18 c. 20 d. cannot be determined

Rajan got married 8 years ago. His present age is g times his age at the

time of his marriage. Rajan's sister was 10 years younger to him at the
time of his marriage. The age of Rajan's sister is :

JTegest 8 QUBHLMISEHHES (&I SHHEWID (PIYSHSHTT. SleuHenL W SBELTenSHWI
AUWSTRIH  HHoemrsHHer  Gurgdl 2 6o auuIgeot g DL MISMTGLD.  [JTegentleot
FBaxnapfl  FHmwewihHer GCuTE: Reuewy ol 10 euwgH SevenuwiauT eTefleL
gregefent FGsTHMUN6T GUUIG 6T6vT60T1?

a. 32 years b. 36 years c. 38 years d. 40 years

Sneha's age is %th of her Father's age. Sneha's Father's age will be twice

of vimal's age after 10 years. If vimal's Eighth birthday was celebrated two
years before, then what is Sneha's present age?

oBeismalel UG  SleeNdH  SIILTAleT  uuIFHeL % umlg oG, 10
AUGBLSIBG LIm@ alwedear aiuigh SurelesT euuwdHer & LLBISTGWD. S
QUHLBIBEHSHE (PG alloed Heid 3oudH LIBhHS HTeneT 6SHTewTLTIQeITT. 61660
eBermmaler HBGUTENHUI aULISHI?

a. 6% b. 24 c. 30 d. None of these

Average age of Y, Z and A is 27 years. Average age of Y and Z is 28 years,
average age of Z and A is 24.5 years and Average age of A and Y is 28.5
years. Find the age of the oldest among them?

Y,Z wppid A &1 ggnafl euwigl 27 eubLBIGeT, Y oBpid Z &1 Fyram euuig)
28. aumLmsen, Z wmpid A e gynafl euwgk 24.5 eupLmiser. A wmmid Y
e gygngf euwgk 28.5 eumLBIG6T. elelled @b cpaufled CQuiflweuflen eI
61601601 ?

a. 25 years b. 24 years c. 32 years d. 35 years

Gokul is twice as old as Velu and half as old as Arun. If the sum of Arun's
and Velu's ages is 85 years, what is Gokul's age in years?

Gam@evlent euwigkl Gougviemeuls GuTeL @Jewi(h LOLMIG OBBID DiHewemnill Gumed
uTsh  auwd  SG. Simewt  oBmid  Ceugviele  auwGiHeNeT  FmbHFHeo 85
QUHLBIGH6IT 6Teolled BHMG6eVletT 6UWIFHI 6T60T60 7

a.34 b. 36 c. 68 d. cannot be determined
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Ram is 5 years older than Anand and Anand is 3 years older than Kiran. If
sum of present ages of Anand and Ram is 55 years, then find age of kiran

7 years hence?

gmd elaiUaUT Sebend ol 5 euwigd GuflweT wBpId Suelbhdh e - enul
ol 3 eauwgk GuilweT. Syebs WB@ID grdlar SHBOUTMSW ST FnbHHe0
55 QUHLMIG6T 6leflev, 7 eUBLSHHMG LIB@G SHyenier euuigl elesreo?

a. 27 b. 32 c.29 d. 22

Aishwarya's present age is 33 %% of his mother's present age.

Aishwaraya's brother present age is 11 year, and he is 34 years younger to

his mother. What is present age of Aishwarya?
gevalTwmalel $BOUTMHW g Deugdh Sbwralear SBCUTMHW  IULIFH60

33 %% LG, MevalTwTaler FCHTHTNET auligl 11 WBBID DEUT DleUHEDL U

STWLTMT Il 34 euwigdl SewenuwiauT eleled erdeuTwiTalle SHBEUTMSUI UULISI
6T60T60T 7

a. 15 b.12 c. 18 d.21

I am three times as old as my son 15 years hence, I will be twice as old as

my son. The sum of our ages is

STIEMIML I 6UWIGH] 6Tl  LDGeNedT euledS L GuTev (&Il LOLMHIG SLGD. 15
AUHLEIBEHSHES LUBG, oIGieedL Ul 6Ll 616  Lodelel  euwengdll  Gumev
B (HOLMIE eleled, @ meulledr auuIFHeT FnbHFHeo

a. 48 years b. 60 years c. 64 years d. 72 years

Six years ago, age of P was 75% of age of Q at that time and sum of
present age of Q and present age of R is 56 years. If R is two years older
than P, then find sum of present age of P and present age of R?

6 QUBLBIBEHSG W&y, P uler eauwsterg, Q uler eauwded 75% 9165
apLSFH0 Q oppid R Gaimseier auuHer gnbhEHe0 56 aUbHLMISH6NT. R erearLeu
P ol @pewih euwg Ouflweu erefled P opmid R &1 spGurengut euwiges
F(BSH60 6616667

a. 48 years b. 50 years c. 42 years d. 54 years

Father is 5 years older than the mother and the mother's age now is thrice
the age of her daughter. The daughter is now 10 years old. What was the
father's age when the daughter was born?

Fhmauiler auwgl STwmfler awmGHall 5 auigh DIgHsD. SBCUTEmHW  SHTuled
AUGH DUEHMLW ST  aUmSLIGCUTED (Pl  LOLEIEG DLGD.  LoSHeiTeir
SBBUTemHW auwigh 10 eefled, &6 LIpdb@GH Curgl FHhHemsHuller euuigl ereire?
a. 20 years b. 15 years c. 25 years d. 30 years
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AVERAGE & AGES ASSIGNMENT
Answer Key

4 1516 |7
B B B B

14 |15 16 |17
C A C A
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